;meaﬂ;&@ﬁax-éwﬁﬁ;. | 2 3

5
- | g) )=+ Va2 =12+ L h) f) = Y2 +x+1)7 = (2% 2+
: x2 +2 i > 4
ERCES-== A= - fe= 2xz v a7 re= £ ()t )’
gz ) (0 3) — (Ax—1DEFD) (1 22 (13- -'(z%z;(zil#)/
f1e) = 2 2 o= I :}/{_ ;.—L 5 ¢ 2
(17437 (73—t )* - A% + 3 N = *;_*(221*/) At
gtz = (AXZ)X2ZX  ax(tPa) — (X42)732°
{2e3y* (X2—4 )%
) - X - — X
. =4t 42Xtz ”71-36—4#)
(243 )?
- o (b L)
// . —2(2(7;?3(1:2) / T T (B—a)*
\ F3) y . _
: (x4 1) : _sfxtl . 9c+/‘3_
. | | ) S0 = (et V23 DW= - (X m)
— . —_—\ vl )
) f® =513 d) f(x)=x*— xiz flx) = (X—H)//‘Z’;( ~+ @+ )O;%) - S = A _——«Xﬂ);([,_i- )/
2 \H bzt
proy = =2 OC2x43) "W L)OX2) py= g 2, Az () LA T (o) el [P 2
(C—22+3)* o B = %ﬂ - 5\(7(#— ’}ﬁy
o —2x 4406z 42X’ —2x>—pxtE | | SN T S = N e
(2 —2x+3)? . (xr/ ~ (n44)*
oX* - 4 + & N [
v _ / 2 2% | S —
—2A+3)* / =
(x > - | | | ) /(241 Gerar
2 (X-7X+S) | A h :—237::‘
(22—2x13)* 7 '
. 1 ‘ ' x2—4x +3 = - l
b 0= o= = ;x) | [y f=—p—— = &% »4»1}%1
. 4 /
e) f(x)=@x*+3x—4)° £) f(x) = (—+2x_5) fey= —L =220 Bl L )= f?&i —2x7% -2 2
2, 2 ot 3 i -
i) = B(ZXI—PZZ"HL) (22 3% ) (%) = 4(.13_5 1'2.1-5‘) (_7;121-5”); | , 7; _ é‘/'z _ 2 3
_ 3(411’3)(2%{\‘_31—#‘)2 _ - (2 )(_:éjfzx’;); = _’(7(‘1)(7( -21) o a NES 2(\[‘7—“)3
L A2)(75 | . _ .__/‘”_L _ 34 —3
(222 | 2 0%

B8 : #B B (kuwataltamacc.chuo—u.ac. jp)

PRy



